SLA406O EPDNDDDDDD O0O00®...SLA 12 pinO

oooooa nTaozson0 O 0O0O0O 0Tad 2500
goooo
ooo ooo god ooo = typ max ooo god
VcBo 120 \Y IcBo 10 uA Veel 120V
VcEo 120 \Y lIEBO 10 mA Ves[ 6V
VEBO 6 \ Vceo 120 \ IcO 25mA
Ic 5 A hre 2000 5000 15000 Vceld 2V, Ic 3A
Icp g1 PW0O 1ms, Duld 50%0 A VcEl satl] 1.0 15 V
IcO 3A, 1800 3mA
Is 0.5 A VBE! satl] 1.6 2.0 \
51 Tal 250 0O ton 0.5 us Vel 30V,
Pt W
251 TcO 2500 tstg 55 us IcO 3A,
Viso 100 FinODOOOooog, AcO Vrms tf 1.5 us Is10 O Is200 3MA
Tj 150 O
Tstg 0400 O 150 O
0 jc 5 O/w
m 0000
% fﬁ % lTl
1 5 8 12
ry Yy Yy Yy
R1 R2
3 6 7 10
R1: 2.5kQ typ R2: 200Q typ
] [] [ O
lc-VeceO (D OO OO hre-lcO D OO OO hre-lcO 0 OO OO0
IAOEmA 07mA  06mA 20000 0 Veel 2V0 20000 0 VeeD 2vO |
e / 7 . ‘“) 10000 e 10000
4 — 5000 ~ 5000
1 % \
IS Ly d A : :’
/|
g = - 1000 1000 ;t)" afa
é - £ 500 A
= g S,
£, 75
1% A
A /
. 100 /] 100 A
50 50
] / 20 20
0 4 0.02 0.05 0.1 0.5 1 5 0.02 0.05 0.1 0.5 1 5
Veed VO O I AD O Ic0ADD
Vee(sat)-lc0 00 M O000 Vee(sat)-ls0 (0 00 0 O le-VeeD 00 D O OO0
, 0 10 180 100001 | . 0 Vel 2V
. /
g o 1]
> g s / /
= 2 M < /1]
8 1—Tanos0C 8 = SuATREE) E //
% 25°C = I l\ N 101 3A T2
> e T S, 9 /
15 N c0 1A Y ,tgo 9|l
1 S
]
0 0 0 LA /
0s ' oaoo ° 0z 05 O mAL D = 0 Y veenvo o 8
0 j-a-PW0O O PT-Ta0 O Aso0 O
20 25 10 ;
5 \\\ Y }6
10 20 %7
o N N
g 5 g 15 g 1 m\
2 \
) < \
j: iz E 10 3%
® d
§ A s[0onooo o1 4
gooooo
0.05 gooooo
0 0.03 T‘aJZSBC[
0'51 5 10 50 100 500 1000 40 0 50 100 150 : 5 10 50 1 200
PWO mSO O Ta0OD0D0 Veed VO O

22



